
3 7/16"

 [87.3mm]

1 15/16"

 [49.3mm]

6 1/16"

 [154.0mm]

8"

 [203.2mm]

REGRIND BUMPER

CUSHION

(24U804108)

ALUMINUM RETAINER

(24A308000)

ACROVYN 4000 COVER

(24U042xxx)

ACROVYN CHAMELEON

(24U628xxx)

G.W.B. (BY OTHERS)

STEEL STUD (BY OTHERS)

1/4-20 X 5" RD HD BOLT

W/ TOGGLE AND

FLAT WASHER

16" [406.4mm] O.C. MAX.

STAGGERED

MOUNTING BRACKET

(24I007xxx)



















DOC#: TS-930- ISSUE DATE: REV DATE:02/25/11308N 06/04/12

WALL CONDITION SPECIFIED FASTENER

DRILL DIAMETERS

C/S PART

NUMBER

WALL RETAINER

STEEL STUD/GYPUSM WALL

1/4-20 X 5" RD HD TOGGLE BOLT

1/4" FLAT WASHER SAE

3/4" 9/32"

90H049002

90H007003

CONCRETE/CONC. BLOCK

#14 X 5" PHILLIPS ROUND HEAD AP SCREW

1/4" FLAT WASHER

3/16" 9/32"

90H287002

90H007003

WOOD STUD/GYPSUM WALL

#14 X 5" PHILLIPS ROUND HEAD AP SCREW

1/4" FLAT WASHER

1/8" 9/32"

90H287002

90H007003

ACROVYN 4000

ECR-64N

6696 Route 405 Highway, Muncy PA 17756

(800) 233-8493 ● Fax (570) 546-4692 ● www.c-sgroup.com

COLOR:

CRASH RAIL:______________________________________

COLOR TO BE SELECTED FROM ONE OF C/S STANDARD COLORS.

TOTAL

L/F REQ'D

END

CAPS

O.S.

REQ'D


	Text1: 
	Text2: 
	0: 
	1: 
	2: 

	Text3: 
	0: 
	1: 
	2: 

	Text4: 
	0: 
	1: 
	2: 

	Text5: 
	Text6: 
	Text7: 
	Text8: 
	Text9: 
	Text10: 
	Text11: 
	Text12: 
	Text13: 


